Economics 302

Spring 2005

Answers to Practice Questions 3

Multiple Choice Questions:

1. b

2. c

3. c

4. d

5. f

6. b

7. d

8. a

9. b

10. c

11. e

12. d

13. b

14. d

Problems:

1. Use the information in the table below to answer this question.

a.

	Year
	Money Supply (M)
	Velocity (V)
	Price Level (P)
	Real GDP (Y)

	1998
	100
	2
	1
	200

	1999
	105
	2.02
	1.05
	202

	2000
	110
	2.03
	1.08
	206.76

	2001
	112
	2
	1.05
	213.33


b.

	Year
	% Change in M
	% Change in V
	% Change in P
	% Change in Y

	1998-1999
	5
	1
	5
	1

	1999-2000
	4.76
	.5
	2.86
	2.36

	2000-2001
	1.82
	-2.78
	-2.78
	3.18


c. Yes, it is a good approximation.  We can see this looking at the table below.

	Year
	% Change in M + % Change in V
	% Change in P + % Change in Y
	Difference between column 2 and column 3

	1998-1999
	6
	6
	0

	1999-2000
	5.25
	5.22
	.03

	2000-2001
	.34
	.4
	.06


d. No the approximation is for % change in M + % change in V = % change in P + %change in Y while the % change in real GDP is just given by the figures in the column labeled “% change in Y”.
2. The question uses the Fisher Equation.

a. Use the Fisher Equation to complete the following table.

	Real Interest Rate (%)
	Nominal Interest Rate (%)
	Inflation Rate (%)

	3
	5
	2

	1
	5
	4

	-1
	5
	6

	4
	6
	2

	-2
	8
	10

	3
	9
	6

	-1
	3
	4


b.   Use this information to complete the following table.

	% change in P
	% change in M
	Inflation Rate (%)
	Real Interest Rate (%)
	Nominal Interest Rate (%)

	0
	2
	0
	3
	3

	1
	3
	1
	3
	4

	1
	4
	1
	3
	4

	-3
	1
	-3
	3
	0

	5
	6
	5
	3
	8


c. Compute the following table recalling the distinction between the ex ante real interest rate and the ex post real interest rate.

	Nominal Interest Rate (%)
	Expected Inflation (%)
	Ex Ante Real Interest Rate (%)
	Actual Inflation (%)
	Ex Post Real Interest Rate (%)

	10
	4
	6
	5
	5

	8
	4
	4
	3
	5

	3
	4
	-1
	4
	-1

	5
	2
	3
	1
	4

	1
	-1
	2
	0
	1


i. It is better if the ex post real interest rate is greater than the ex ante real interest rate since you will receive a higher return on the money you are lending.

ii. It is better if the ex post real interest rate is smaller than the ex ante real interest rate since the borrower will by paying a lower interest rate on the money he has borrowed. 

3. Answer:
a.  Use this information to complete the following table. (Use an Excel spreadsheet with formulas!)

	Nominal Interest Rate i
	i -0.2 (four places past the decimal)
	Real Output Y
	Real Money Demand (0 places past the decimal)

	0.10 = 10%
	1.5849
	1000
	1585

	0.11
	1.5550
	1000
	1555

	0.06
	1.7554
	1000
	1755

	0.03
	2.0164
	1000
	2016


b. As the quantity of real money balances increases the nominal interest decreases.
c. Suppose real GDP increases to 1200.  Recalculate the values for the table using your spreadsheet program.  Enter your findings in the table below.

	Nominal Interest Rate i
	i -0.2 (four places past the decimal)
	Real Output Y
	Real Money Demand (0 places past the decimal)

	0.10 = 10%
	1.5849
	1200
	1902

	0.11
	1.5550
	1200
	1866

	0.06
	1.7554
	1200
	2106

	0.03
	2.0164
	1200
	2420


d. The real money demand function shifted to the right at every given interest rate.
4. Suppose we start with the money demand function given in problem (3).  Furthermore, assume real output is initially at 1000 and the nominal interest rate is 3%.

a. 2016

b. Since the supply of real money balances equals the demand for real money balances in equilibrium and we know the value of the price level, the value of the nominal interest rate, and the value of output we can solve for the equilibrium level of the nominal money supply.  The nominal money supply in equilibrium will equal 201.64.
c. If the percentage change in the nominal money supply is 7% then we can expect the percentage change in inflation to be 7%.
d. The nominal interest rate will increase to 10%.
e. The quantity of real money balances demanded will fall to 1585.
f. The price level must increase from its initial value of 1.0 to a value of 1.27.
g. An increase in the expected money growth in the future leads to an increase in the current price level:  there is a positive relationship between these two variables.
5. Suppose you lived in an economy that did not have money.  In this economy, four goods are produced.  

a. If n is the number of goods in the economy, then the number of price ratios that would be needed in the absence of money is equal to n(n – 1)/2 or in this case if there are 4 goods there will be six price ratios. 

b. See (a)
6.  Answer:
a. You would have 200 dollars at the end of the year.
b. The new price level is 2.0.
c. The real value is equal to the nominal value divided by the price level or 100. [real value = 100/1]

d. The real value is equal to the nominal value divided by the price level of 100.  [real value = 200/2]

e. Since the real value at the beginning of the year exactly equals the real value at the end of the year the real interest rate is 0.

f. The simplified formula finds that the real interest rate is 0% while the precise formula finds that the real interest rate is also 0%.  In this example there is no difference between the answers you get from these formulas.

